goob 0110

e D00DDO0 (DOD): E(X)=Y apr=21p1 +22p2 + -+ + Tnpn
k=1

e 000D000O0D0O0OD:
V(X)=E(X -m)®) = B(X?) - B(X)? (m=E(X)), oX)=yV(X)
e 000D000OD
— Y=aX+b000 (a, b: 00) E(Y)=aE(X)+b, V(Y)=a2V(X)
- EX+Y)=EX)+EY) (EXi+ --+X,)=EX1)+-+EX,))
~ XO0YOOOOOOOEXY)=EX)EY), V(X+Y)=V(X)+V()

[1] O0DDOD 600000000000 30003002000 200000 1000 100000000
000000 100000000000000000 1000000000X =00000000Y =20
0000000000000000000000

(1) (X,Y)DO 200000000000

(2) X0y OOooooooooooooo

(3)X0yOooooo

(4 Z=X+Y OODOOOOOOO

ERERE HEN




goob 0110

e D00DDO0 (DOD): E(X)=Y apr=21p1 +22p2 + -+ + Tnpn
k=1

e 000D000O0D0O0OD:
V(X)=E(X -m)®) = B(X?) - B(X)? (m=E(X)), oX)=yV(X)
e 000D000OD
— Y=aX+b000 (a, b: 00) E(Y)=aE(X)+b, V(Y)=a2V(X)
- EX+Y)=EX)+EY) (EXi+ --+X,)=EX1)+-+EX,))
~ XO0YOOOOOOOEXY)=EX)EY), V(X+Y)=V(X)+V()

[1] O0DDOD 600000000000 30003002000 200000 1000 100000000
000000 100000000000000000 100000000000X=00000000Y =2
00000000000000000000000

(1) (X,Y)DO 200000000000

(2) X0y OOooooooooooooo

(3)X0yOooooo

(4 W=XYy 00OO0OOOoOoOoooO

ERERE HEN
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[1] 000D 600000000000 30003002000 200000 1000 100000000
000000 100000000000000000 1000000000X=00000000Y =20
0000000000000000000000

(1) (X,Y)DO 200000000000

(2) X0y oooooooooooooo

(3)X0yOooooo

(4)Z=X+YDOOOOOOOOOO

[1] 000D 600000000000 3000 3002000200000 1000 100000000
000000 100000000000000000 100000000000X=00000000Y =2
00000000000000000000000

(1) (X,Y)DO 200000000000

(2) X0y Ooooooooooooooo

(3) X0 yOooooo

(4 W=Xy 00oOoOoOoooooo



